## Official Gifts RECEIVED Register – Government and Legislative Council Rockliff Government I November 2022 – 31 October 2023

Date Declared/ Received	Recipient	Donor	Description	Est. Total Value	Disposition & Location
2022/23	Premier Rockliff, Ministers Archer, Barnett, Street, Ferguson, Jaensch	Qantas Airlines	Qantas Lounge Memberships @ \$600 each	\$600	Retained by the recipient
2022/23	Premier Rockliff, Ministers Archer and Ferguson	Virgin Airlines	Virgin Lounge Memberships @ \$399 each	\$399	Retained by the recipient
3 Aug 2022	Minister Palmer	Nelson Council, New Zealand	I × Ceramic Bowl @ \$134 each	\$134	Remain property of the crown
21 Aug 2022	Minister Ellis	Hawthorn Football Club	2 × tickets to the Hawthorn Football Club President's lunch @ \$450 each	\$900	Retained by the recipient
3 Oct 2022	Minister Archer	Tasmanian Jack Jumpers	I × Government Corporate Box – NBL Game Jack Jumpers vs Cairns Taipans @ \$640 each	\$640	Retained by the recipient
15 Oct 2022	Minister Palmer	Rotary Club of Ulverstone West	I × Hamper of Nutrimetics Products and Voucher @ \$390 each	\$390	Retained by the recipient to be distributed for gifts as raffle prizes
Nov 2022	Minister Ogilvie	TAB Corporation	I x ticket to Melbourne Cup Day luncheon @ \$500 each	\$500	Retained by the recipient
2 Nov 2022	Premier Rockliff	MyState Bank Ltd	I × MyState Bank Student Film Festival Munchies Gift Box @ \$60 each	\$60	Retained by the recipient
4 Nov 2022	Minister Archer	Tourism Tasmania	2 × tickets to the 2022 Tourism Tasmania Awards @ \$218.90 each	\$438	Retained by the recipient

Date Declared/ Received	Recipient	Donor	Description	Est. Total Value	Disposition & Location
12 Nov 2022	Minister Jaensch	Stanley & Tarkine Forage Festival	2 × tickets to the Taste the Region Dinner @ \$220 each	\$440	Retained by the recipient
13 Nov 2022	Minister Street	ICC Mens T20 World Cup Australia	I × ticket to the International Cricket Council Men's T20 World Cup 2022 Final @ \$395 each	\$395	Retained by the recipient
17 Nov 2022	Minister Jaensch	Child & Family Learning Centre	I x Waddy Stick @ \$180 each	\$180	Retained by the recipient
17 Nov 2022	Premier Rockliff	SOHN Hearts and Minds Investment Leaders	I × ticket to the SOHN Hearts and Minds Investment Leaders Conference VIP Dinner @ \$325 each	\$325	Retained by the recipient
18 Nov 2022	Minister Ellis	Dept of Employment and Workplace Relations (DEWR)	I × ticket to the 2022 Australian Training Awards Gala Presentation Dinner @ \$150 each	\$150	Retained by the recipient
19 Nov 2022	Minister Archer	Housing Industry Association	2 x tickets to the HIA Awards Dinner @ \$250 each	\$500	Retained by the recipient
25 Nov 2022	Minister Ellis	Work and Training	2 × tickets to the 2022 Work and Training Graduation and Awards Night Dinner @ \$110 each	\$220	Retained by the recipient
28 Nov 2022	Minister Ellis	Sarah Hurst Strategy	2 x tickets to the Avebury Mine Official Opening Dinner @ \$110 each	\$220	Retained by the recipient
29 Nov 2022	Minister Ferguson	PFD Food Services	I x Book ''Ten Quid Well Spent, The History of PFD Food Service'' @ \$65 each	\$65	Retained by the recipient
Dec 2022	Minister Barnett	Hobart City Mission	I x Book "Always There: Hobart City Mission 1852-2022" @ \$66 each	\$66	Retained by the recipient
8 Dec 2022	Minister Street	Federal Group	I × Book ''One Hundred and Fourteen Doors'' @ \$114 each	\$114	Retained by the recipient

Date Declared/ Received	Recipient	Donor	Description	Est. Total Value	Disposition & Location
12 Dec 2022	Minister Archer	Master Wang – Chinese Buddhist Academy	I × Bunch of flowers \$100 and I × Mini Christmas hamper \$79	\$179	Retained by the recipient
12 Dec 2022	Minister Jaensch	Dulverton Regional Waste Management Authority	I × ceremonial shovel @ \$340 each	\$340	Retained by the recipient
14 Dec 2022	Premier Rockliff	Mondelez International	I x Box of Cadbury Chocolates @ \$100 each	\$100	Retained by the Premier
15 Dec 2022	Minister Ogilvie	Tas Racing	I × Ticket to the 2023 Hobart Thousand and Sponsors Dinner @ \$65 each	\$65	Retained by the recipient
18 Dec 2022	Minister Street	Collingwood Football Club	I × set of apparel including I × scarf, I × signed netball dress, and I × jacket @ \$310 each	\$310	Retained by the recipient
18 Dec 2022	Minister Barnett	Cricket Tasmania	2 × Chairman's Room Tickets to the Hobart Hurricanes vs Perth Scorchers BBL game @ \$300 each	\$600	Retained by the recipient
21 Dec 2022	Minister Jaensch	Libraries Tasmania	I × framed photo of Aboriginal carvings and I × framed photo of Mount Cameron @ \$50 each	\$100	Retained by the recipient
21 Dec 2022	Premier Rockliff	Callington Mill Distillery	I x bottle Callington Mill Tasmanian Single Malt Whisky "Entropy" @\$160 each	\$160	Retained by the recipient
22 Dec 2022	Minister Ferguson	Metro Tas	2 × Corporate Box tickets to the Tasmania Jack Jumpers vs Illawarra Hawks NBL Basketball game @ \$100 each	\$200	I × retained by the recipient I × donated to an organisation
22 Dec 2022	Minister Street	Tasmanian Jack Jumpers	I x Corporate Box to the Tasmania Jack Jumpers vs Illawarra Hawks NBL Basketball game @ \$640 each	\$640	Retained by the recipient

Date Declared/ Received	Recipient	Donor	Description	Est. Total Value	Disposition & Location
23 Dec 2022	Premier Rockliff	The Royal Yacht Club of Tasmania (RYCT)	I × gift set of promotional merchandise including Polo Shirts, Tie, Sun Hat and Canvas Bag @ \$400 each	\$400	Retained by the recipient
27 Dec 2022	Premier Rockliff	Taste of Summer Pty Ltd	5 × tickets to the Tasmania's Taste of Summer Festival @ \$37 each	\$185	Retained by the Premier
27 Dec 2022	Minister Street	Taste of Summer Pty Ltd	4 × tickets to the Tasmania's Taste of Summer Festival @ \$37 each	\$148	Retained by the recipient
I Jan 2023	Premier Rockliff	Tasmanian Turf Club	I x ticket to the 2023 Longford Cup Race Day @ \$120 each	\$120	Retained by the recipient
9 Jan 2023	Minister Street	Cricket Tasmania	I × ticket to the BBL12 Chairman's Room Function Hobart Hurricanes v Melbourne Stars @ \$150 each	\$150	Retained by the recipient
10 Jan 2023	Minister Palmer	David Leyonhjelm	3 x Books ''Gun Control'' @ \$39.95 each	\$120	Remain property of the crown
12 Jan 2023	Minister Ferguson	Tennis Tasmania	2 × Corporate Box tickets to 2023 Hobart International Tennis Tournament Quarter Finals @ \$130 each	\$260	Retained by the recipient
12 Jan 2023	Minister Archer, Minister Barnett	Hobart International Hospitality	2 × Corporate Box tickets to 2023 Hobart International Tennis Tournament Quarter Finals @ \$130 each	\$260	Retained by the recipient
12 Jan 2023	Minister Palmer	Special Olympics Australia	I x set of 3 framed medals @ \$290 each	\$290	Remain property of the crown
12 Jan 2023	Minister Street	Tasmania Jack Jumpers	I x Corporate Box to the NBL Jack Jumpers v Adelaide 36ers @ \$640 each	\$640	Retained by the recipient
13 Jan 2023	Minister Street	Tennis Tasmania	8 x tickets to the Hobart International Tennis Tournament Corporate Box Semi-Finals @ \$120 each	\$960	Retained by the recipient

Date Declared/ Received	Recipient	Donor	Description	Est. Total Value	Disposition & Location
14 Jan 2023	Minister Archer	Tourism Industry Council of Tasmania	2 × Corporate Box tickets to 2023 Hobart International Tennis Tournament Finals @ \$130 each	\$260	Retained by the recipient
15 Jan 2023	Minister Archer	Cricket Tasmania	2 × Chairman's Lounge tickets at Hobart Hurricanes vs Sydney Thunder BBL Game @ \$150 each	\$300	Retained by the recipient
15 Jan 2023	Minister Barnett	Hydro Tasmania	4 × tickets to Hobart Hurricanes vs Sydney Thunder BBL Game @ \$180 each	\$720	Retained by the recipient
17 Jan 2023	Minister Ellis	Australian Forest Contractors Association	I × ticket to the Australian Forest Contractors Association Dinner @ \$65 each	\$65	Retained by the recipient
18 Jan 2023	Premier Rockliff	Tasmania Jack Jumpers	3 × tickets to the Tasmania Jack Jumpers vs S.E. Melbourne Phoenix NBL Game @ \$290 each	\$870	Retained by the recipient
18 Jan 2023	Minister Barnett	Callington Mill Distillery	I x bottle of Single Malt Whisky ''Apera Fusion'' @ \$135 each	\$135	Retained by the recipient
21 Jan 2023	Minister Archer	Royal Overseas League – Tasmanian Branch	I x Book ''Overseas and Far Away''	\$50	Retained by the recipient
21 Jan 2023	Minister Archer	Western United Football Club	2 × 'Hobart Double Header' tickets – Western Mens A-League @ \$195.00 each	\$390	Retained by the recipient
22 Jan 2023	Premier Rockliff	Tennis Australia	2 × tickets to the 2023 Australian Tennis Open @ \$925 each	\$1850	Retained by the recipient
23 Jan 2023	Minister Ferguson	Endeavour Group	I × bottle Chapel Hill, The Vicar Shiraz 2019 @ \$75 each	\$75	Donation to an organisation
23 Jan 2023	Minister Archer	Chinese Community Association of Tasmania	2 × Chinese New Year Banquet Dinner tickets @ \$90.00 each	\$180	Retained by the recipient

Date Declared/ Received	Recipient	Donor	Description	Est. Total Value	Disposition & Location
24 Jan 2023	Premier Rockliff	United States Australian Football League (USAFL)	I × set of USAFL 25 Silver Season Merchandise including drink holders, t-shirts and a sherrin football @ \$238 each	\$238	Retained by the recipient
29 Jan 2023	Minister Archer	Tasmania Jack Jumpers	I × Sky Suite ticket to the Tasmania Jack Jumpers vs Perth Wildcats ''Teal Game'' @ \$250 each	\$250	Retained by the recipient
29 Jan 2023	Premier Rockliff	Tasmania Jack Jumpers	3 × Sky Suite tickets to the Tasmanian Jack Jumpers vs Perth Wildcats ''Teal Game' @ \$250 each	\$750	Retained by the recipient
2 Feb 2023	Minister Street	Collingwood Football Club	I × ticket to the Suncorp Netball pre-season game Magpies vs Firebirds @ \$53 each	\$53	Retained by the recipient
3 Feb 2023	Premier Rockliff	Festivale Committee	5 × tickets to Festivale @ \$35 each	\$175	Retained by the recipient
4 Feb 2023	Minister Ferguson	Festivale Committee	2 × tickets to Festivale @ \$35 each	\$70	Retained by the recipient
6 Feb 2023	Premier Rockliff	Tassie Pride Glasshouse / New Life Industries	2 × boxes of Mixed Vegetables @ \$35 each	\$70	Retained by the recipient
8 Feb 2023	Minister Ogilvie	VMware Australia	I × bottle St Hugo - The Unspoken Promise Cabernet Sauvignon 2014 @ \$74 each	\$74	Retained by the recipient
10 Feb 2023	Minister Ogilvie	Carbine Club of Tasmania	I × ticket to the Carbine Club of Tasmania 2023 Derby Day Luncheon @ \$180 each	\$180	Retained by the recipient
10 Feb 2023	Minister Archer, Minister Ogilvie, Minister Palmer, Minister Street	Federal Group	I x Wrest Point 50 <sup>th</sup> Anniversary Celebration Gift Box and Medallion @ \$119 each	\$119	Retained by the recipient
Feb 2023	Minister Archer	Royal Hobart Regatta Organising Committee	I × Gift Bag – containing fudge, ceramic coaster, Undiscovered Tasmania book and placemats @ \$85 each	\$85	Retained by the recipient

Date Declared/ Received	Recipient	Donor	Description	Est. Total Value	Disposition & Location
12 Feb 2023	Premier Rockliff, Minister Ogilvie	Tasmanian Racing Club (TRC)	I × ticket to Ladbrokes Hobart Cup Day Committee Luncheon @ \$360 each	\$360	Retained by the recipient
15 Feb 2023	Minister Ellis	Dept of Education, Children & Young People	2 x books ''Reflections Frank MacDonald Memorial Prize 2021-2022'' @ \$93.48 each	\$187	I × Retained by the recipient I × Donated to Organisation
15 Feb 2023	Premier Rockliff	Tarkine Fresh Oysters	I x Wooden Serving Board @ \$15 each and I x book ''Tarkine Fresh Oysters'' @ \$50 each	\$65	Retained by the recipient
16 Feb 2023	Minister Ferguson	Metro Tasmania	2 × tickets to the NBL Tasmania Jack Jumpers vs NZ Breakers Semi-Final @ \$100 each	\$200	Retained by the recipient
16 Feb 2023	Minister Street	Tasmania Jack Jumpers	I × ticket to the NBL Tasmania Jack Jumpers vs NZ Breakers Semi-final @ \$100 each	\$100	Retained by the recipient
16 Feb 2023	Minister Barnett	Tasmania Jack Jumpers	2 × tickets to the NBL Tasmania Jack Jumpers vs NZ Breakers Semi-final @ \$100 each	\$200	Retained by the recipient
17 Feb 2023	Minister Ogilvie	Telstra Purple	2 × Telstra Purple Hoodies @ \$45.00ea	\$90	Retained by the recipient
17 Feb 2023	Minister Archer	Theatre Royal	2 × tickets to ''Velvet Rewired'' Theatre Royal Show @ \$69.00	\$138	Retained by the recipient
18 Feb 2023	Minister Palmer	Tasmanian Leaders	I x pair Wool Socks @ \$10.40 each and 1x Assorted box of Coal River Chocolates @ \$44.80 each	\$55	Retained by the recipient
22 Feb 2023	Premier Rockliff, Minister Ferguson, Minister Ogilvie	Tasmanian Turf Club	I × ticket to the 2023 Ladbroke Launceston Cup Official Luncheon @ \$150 each	\$150	Retained by the recipient
22 Feb 2023	Minister Palmer	Tasmanian Turf Club	2 × tickets to the 2023 Ladbroke Launceston Cup Official Luncheon @ \$150 each	\$300	Retained by the recipient

Date Declared/ Received	Recipient	Donor	Description	Est. Total Value	Disposition & Location
23 Feb 2023	Minister Ogilvie, Minister Street	Tourism Industry Council Tasmania (TICT)	I x ticket to the 2023 TICT Dialogue Tourism and Business Luncheon @ \$170 each	\$170	Retained by the recipient
24 Feb 2023	Minister Ferguson	Australian Racing Group	I x 2023 Shannon's Motorsport Speed Series ''AWC Race Tasmania'' Pre-Race Day Experience @ \$350 each	\$350	Retained by the recipient
26 Feb 2023	Minister Ferguson	Australian Racing Group	I × 2023 Shannon's Motorsport Speed Series "AWC Race Tasmania" Sunday Race Day and Presentation @ \$299 each	\$299	Retained by the recipient
28 Feb 2023	Minister Ferguson	Australasian Marine Pilots Institute Board	I x bottle Pipers Brook Pinot Noir 2021 @ \$50 each and I x Anvers Tasmanian Selection Truffles @ \$17.50 each	\$67	Donated to an Organisation
Mar 2023	Premier Rockliff, Minister Street	Cricket Australia	I × set framed photos of the International Cricket Council Men's T20 World Cricket Cup @ \$250 each	\$250	Retained by the recipient
3 Mar 2023	Minister Ogilvie	Tourism Industry Council Tasmania (TICT)	I x ticket to the 2023 Tourism Collective Celebrating Women Working in Tourism @ \$125 each	\$125	Retained by the recipient
3 Mar 2023	Minister Street	Hockey Tasmania	2 x tickets to the International Hockey Federation Australia vs Argentina Pro-League Match @ \$30 each	\$60	Retained by the recipient
3 Mar 2023	Minister Ellis	Civil Contractors Federation	2 × tickets to the Women in Infrastructure Gala Dinner @ \$210 each	\$420	Retained by the recipient
4 Mar 2023	Minister Archer	Theatre Council Tasmania	2 × tickets to the Tasmanian Theatre Awards Winners Announcement @ \$115.00 each	\$230	Retained by the recipient
4 Mar 2023	Minister Archer	Tasmanian Symphony Orchestra	I x bunch of flowers @ \$100 each	\$100	Retained by the recipient

Date Declared/ Received	Recipient	Donor	Description	Est. Total Value	Disposition & Location
8 Mar 2023	Minister Archer	Fahan School	I × Huon Pine chopping board and blackwood cheese knife @ \$50 each	\$50	Retained by the recipient
8 Mar 2023	Premier Rockliff	Japanese State Minister for Foreign Affairs	I × bottle of Yamazakura 963 - 21 Year Old Japanese Fine Blended Whisky @ \$499 each	\$499	Retained by the recipient
9 Mar 2023	Premier Rockliff	National Institute of Polar Research (NIPR)	<ul> <li>I × NIPR Trade Mission Gift includes:</li> <li>Mt Fuji Hanging Print @ \$70 each</li> <li>2 × KAGAMI Crystal Glasses @ \$97 each</li> <li>Bottle of Sake 720ml @ \$90 each</li> <li>2 × Jipyong Royal Ceramics Goblets @ \$60 each</li> </ul>	\$474	Retained by the recipient
17 Mar 2023	Premier Rockliff	Tourism Industry Council Tasmania (TICT)	I x ticket to the 2022 Qantas Australian Tourism Awards Gala Dinner @ \$260 each	\$260	Retained by the recipient
18 Mar 2023	Minister Ferguson	Launceston Chamber of Commerce	2 × Tickets to the 2023 Spirit Super Business Excellence Awards @ \$170.00ea	\$340	Retained by the recipient
23 Mar 2023	Premier Rockliff	Ambassador of Thailand	I × Silk Tie and Gift Box set @ \$72 each	\$72	Retained by the recipient
25 Mar 2023	Minister Ellis	Lions Club of Ulverstone	2 × tickets to the Preston Rodeo Sponsor Tent @ \$35 each	\$70	Retained by the recipient
25 Mar 2023	Minister Archer	Tasmanian Symphony Orchestra (TSO)	2 × tickets to the Tasmanian Symphony Orchestra 75 <sup>th</sup> Anniversary Gala @ \$96 each	\$192	Retained by the recipient
28 Mar 2023	Minister Archer	Chinese Buddhist Academy	I × Bunch of flowers @ \$60.00 each and I × Ornamental boxed pig @ \$30 each	\$90	Retained by the recipient
28 Mar 2023	Premier Rockliff	Italian Australian Seniors Welfare Association of Tasmania	I × bottle of Bottega Gold Prosecco @ \$40 each and I × Dolce and Gabbana Baci Maiolica Classico Gift Box @ \$25 each	\$65	Retained by the recipient

Date Declared/ Received	Recipient	Donor	Description	Est. Total Value	Disposition & Location
31 Mar 2023	Premier Rockliff	Cricket Tasmania	I × ticket to the Cricket Tasmania Awards Night @ \$200 each	\$200	Retained by the recipient
2 Apr 2023	Premier Rockliff	Rolex Australia	2 × tickets to the Formula 1 Australian Grand Prix 2023 @ \$4,175 each	\$8,350	Retained by the recipient
20 Apr 2023	Premier Rockliff	Palawa Enterprises	I × set Wallaby Skin and Clap Sticks @ \$100 each	\$100	Remain property of the crown
21 Apr 2023	Minister Ogilvie	Tas Racing	I × ticket to the 2023 Tasmanian Harness Racing Awards @ \$90 each	\$90	Retained by the recipient
24 Apr 2023	Premier Rockliff	The Royal Automobile Club of Tasmania	I × RACT Centenary Gift Package including pin, book, single malt whisky and crystal glasses @ \$210 each	\$210	Remain property of the crown (Book) Retained by the recipient (all other items)
26 Apr 2023	Premier Rockliff	Chinese Ambassador to Australia	I × Chinese Celadon Platter with Centre Flower, Wood Stand and Gift Box @ \$82 each	\$82	Remain property of the crown
27 Apr 2023	Minister Ellis	Department of Natural Resources and Environment Tasmania	2 × tickets to the Agfest 2023 3-day pass @ \$30 each	\$60	Retained by the recipient
I May 2023	Premier Rockliff	RPG Management Pty Limited	2 x books ''Tarkine'' @ \$40 each	\$80	Remain property of the crown (1 Book) Retained by the recipient (1Book)
2 May 2023	Minister Archer	Chinese Art Society Australia	2 × paintings ''My Heart and My Mind'' @ \$45 each	\$90	Retained by the recipient
2 May 2023	Minister Ogilvie	Intuit Technologies	I x ticket to the Intuit Technologies Executive Luncheon @ \$125 each	\$125	Retained by the recipient
3 May 2023	Minister Palmer	Jason Jacobi	I × bottle of Apsley Gorge Pinot Noir 2020 @ \$65 each	\$65	Retained by the recipient

Date Declared/ Received	Recipient	Donor	Description	Est. Total Value	Disposition & Location
5 May 2023	Minister Street	Carlton Football Club	I × ticket to the President's Function Carlton v Brisbane Lions AFL Match @ \$475 each	\$475	Retained by the recipient
12 May 2023	Minister Ogilvie	Kellogg Brown and Root Pty Ltd (KBR)	I × ticket to the Defence Connect Budget Lunch @ \$295 each	\$295	Retained by the recipient
13 May 2023	Minister Street	Spirit of Tasmania	I × ticket to the President's Function North Melbourne v Port Adelaide AFL Match @ \$375 each	\$375	Retained by the recipient
14 May 2023	Minister Ferguson	The Royal Automobile Club of Tasmania (RACT)	I × bottle RACT Centenary Single Malt Tasmanian Whisky @ \$150 each	\$150	Retained by the recipient
15 May 2023	Premier Rockliff	Professor David Castle	I x book ''Comprehensive Men's Mental Health'' @ \$95 each	\$95	Remain property of the Crown
17 May 2023	Minister Ogilvie	Kellogg Brown and Root Pty Ltd (KBR)	I x ticket to the Australian Space Awards 2023 @ \$295 each	\$295	Retained by the recipient
21 May 2023	Minister Ellis	Hawthorn Football Club	I × ticket to the Hawthorn Football Club Presidents Lunch – Hawthorn vs West Coast Eagles AFL Match @ \$364 each	\$364	Retained by the recipient
24 May 2023	Minister Ellis	National Electrical and Communications Association (NECA) Tas Branch	I x Ticket to the (NECA) Tasmanian Parliamentary Dinner 2023 @ \$94 each	\$94	Retained by the recipient
28 May 2023	Minister Ogilvie	Tasmanian Racing Club	I x Ticket to the Tasmania Pink Cup Race Day @ \$145 each	\$145	Retained by the recipient
31 May 2023	Premier Rockliff	Speak Up! Stay ChatTY	I x set of Speak Up! Stay ChatTY shorts day merchandise, including beanie, shorts and hoodie @ \$140 each	\$140	Retained by the recipient

Date Declared/ Received	Recipient	Donor	Description	Est. Total Value	Disposition & Location
I June 2023	Minister Jaensch	Reconciliation Tasmania	2 × tickets to the 2023 Reconciliation Week Hobart Breakfast @ \$75 each	\$150	Retained by the recipient
I June 2023	Premier Rockliff	Reconciliation Tasmania	I × ticket to the 2023 Reconciliation Week Hobart Breakfast @ \$75 each	\$75	Retained by the recipient
5 June 2023	Premier Rockliff	Kenvue	I × set of Nicorette merchandise @ \$104 each	\$104	Retained by the recipient
8 June 2023	Premier Rockliff	Bluey Merino - The Merino Lab Project	I × set of Bluey Merino Unisex Tasmanian Merino Fisherman Beanie and Scarf @ \$178 each	\$178	Retained by the recipient
8 June 2023	Premier Rockliff	Rex Airlines	I × set of Rex Airlines Merchandise including USB Flash Drive, Cap, Model Aircraft, Keep Cup and Saab Model Aircraft @ \$87 each	\$87	Retained by the recipient
8 June 2023	Minister Barnett	Garry Browne AM	I x book ''Of Life and Of Leadership'' @ \$60 each	\$60	Retained by the recipient
17 June 2023	Minister Street	Collingwood Football Club	I x Ticket to the Suncorp Super Netball – Collingwood Magpies v West Coast Fever @ \$125 each	\$125	Retained by the recipient
27 June 2023	Premier Rockliff	Korea Polar Research Institute (KOPRI)	I x set of Antarctic Korean Route Expedition/Korea Polar Research Institute (KOPRI) merchandise including a Cap, Tea Mugs and Umbrella @ \$100 each	\$100	Retained by the recipient
27 June 2023	Premier Rockliff	National Institute of Polar Research (NIPR) (Japan)	I x set of Japanese Sake and Sake Cups @ \$63 each	\$63	Retained by the recipient
I July 2023	Minister Archer	Australian Institute of Architects Tasmania	2 × tickets to the 2023 Tasmanian Architects Awards Presentation Dinner @ \$210 each	\$420	Retained by the recipient

Date Declared/ Received	Recipient	Donor	Description	Est. Total Value	Disposition & Location
3 July 2023	Premier Rockliff, Minister Street	Events Tasmania	I × framed and signed Tasmanian Jack Jumpers Jersey @ \$650 each	\$650	Retained by the recipient
4 July 2023	Minister Barnett, Minister Ferguson	Tasmanian Chamber of Commerce and Industry (TCCI)	I × ticket to the TCCI Premier's Cocktail Party @ \$120 each	\$120	Retained by the recipient
6 July 2023	Minister Archer	Queensland Corrective Services	I × Gift Bag @ \$126 each	\$126	Retained by the recipient
15 July 2023	Minister Archer	National Electrical and Communications Association (NECA) Tas Branch	2 × tickets to 2023 NECA Awards Ceremony @ \$245 each	\$490	Retained by the recipient
21 July 2023	Minister Barnett	Civil Contractors Federation (CCF)	I × ticket to the CCF Dinner @ \$245 each	\$245	Retained by the recipient
21 July 2023	Minister Street	AFL Tasmania	I × ticket to the 2023 Tasmanian Football Hall of Fame Induction Dinner @ \$150 each	\$150	Retained by the recipient
26 July 2023	Minister Ogilvie	Tasmanian Minerals, Manufacturing and Energy Council (TMEC)	I × ticket to the TMEC Conference Dinner @ \$160 each	\$160	Retained by the recipient
27 July 2023	Minister Rockliff	Department of Health	I x Mega Tin of Chupa Chups @ \$231 each	\$231	Retained by the recipient
27 July 2023	Minister Ellis	Dept of Police, Fire and Emergency Management	I × ticket Tasmania Police Commissioned Officers Mess Formal Dinner @ \$50 each	\$50	Retained by the recipient
2 Aug 2023	Minister Archer	Citta Property Group Pty Limited	I × book ''Parliament Square, Hobart'' @ \$60 each	\$60	Retained by the recipient
Aug 2023	Minister Rockliff	Netball Australia	I × signed Netball and Display Case @ \$100 each	\$100	To be donated to an organisation

Date Declared/ Received	Recipient	Donor	Description	Est. Total Value	Disposition & Location
Aug 2023	Minister Street	Netball Australia	I × signed Netball and Display Case @ \$100 each	\$100	Retained by the recipient
12 Aug 2023	Minister Ferguson	Palmers Dance Studio	2 × tickets to the Tasmanian Open DanceSport Championship @ \$81 each	\$162	Retained by the recipient
13 Aug 2023	Minister Barnett	Events Tasmania	I × Corporate Box to the Hawthorn Football Club Presidents Lunch Hawthorn v Western Bulldogs AFL Match @ \$4,000 each	\$4,000	I × Retained by the recipient Remainder donated to other organisations
13 Aug 2023	Minister Ellis	Hawthorn Football Club	2 × tickets to the Hawthorn Football Club Presidents Lunch Hawthorn v Western Bulldogs AFL Match @ \$425 each	\$850	Retained by the recipient
19 Aug 2023	Minister Ellis	Surf Life Saving Tasmania	I x ticket to the Surf Life Saving Tasmania Awards of Excellence @ \$85 each	\$85	Retained by the recipient
23 Aug 2023	Minister Ferguson, Minister Barnett	Tasmanian Chamber of Commerce and Industry (TCCI)	2 × tickets to the Australian Chamber of Commerce and Industry Dinner @ \$150 each	\$300	Retained by the recipient
23 Aug 2023	Minister Ogilvie	Department of State Growth	I × ticket to the Australian Chamber of Commerce and Industry Dinner @ \$150 each	\$150	Retained by the recipient
24 Aug 2023	Premier Rockliff	Johnno's Tasmania	I × Johnno's Tasmania Gift Box including chutneys, jams and saucers @ \$60 each	\$60	Retained by the recipient
25 Aug 2023	Minister Jaensch	Peter Underwood Centre	I × book ''Education and Equity in Times of Crisis – Learning, Engagement and Support'' @ \$65 each	\$65	Retained by the recipient
26 Aug 2023	Minister Ellis	Master Builders Tasmania	I x ticket to the 2023 Master Builders Tasmania Awards for Excellence Dinner @ \$242 each	\$242	Retained by the recipient

Date Declared/ Received	Recipient	Donor	Description	Est. Total Value	Disposition & Location
28 Aug 2023	Premier Rockliff	Vice-Governor of Fujian Province	I × commemorative Chinese lacquer Plate and Wooden Stand @ \$100 each	\$100	Property of the Crown
2 Sep 2023	Minister Ogilvie	Hank Petrusma	6 × tickets to the Rock Proms Show @ \$125.10 each	\$750	Retained by the recipient
3 Sep 2023	Minister Ogilvie	Port Arthur Historic Site	I x ticket to the International Council on Monuments and Sites 21 <sup>st</sup> General Assembly and Scientific Symposium Welcome Reception and Opening Ceremony @\$120 each	\$120	Retained by the recipient
7 Sep 2023	Premier Rockliff	Rugby Australia	I × Wallabies Merchandise including pin and signed jersey @ \$1000 each	\$1000	Retained by the recipient
8 Sep 2023	Minister Ellis	Skills Tasmania	I x ticket to the 2023 Tasmanian Training Awards @ \$125 each	\$125	Retained by the recipient
9 Sep 2023	Minister Street	Australian Football League	2 × tickets to the President's Function Brisbane Lions v Port Adelaide Second 2 <sup>nd</sup> Qualifying Final @ \$350 each	\$700	Retained by the recipient
10 Sep 2023	Minister Ogilvie	Southern Football League (SFL)	I × ticket to the 2023 Southern Football League Women's Grand Final Luncheon @ \$100 each	\$100	Retained by the recipient
15 Sep 2023	Minister Street	Federal Group	I × ticket to the 42 <sup>nd</sup> Bill Sorell Sports Luncheon @ \$172 each	\$172	Retained by the recipient
16 Sep 2023	Premier Rockliff	Tennis Tasmania	I x book ''Trailblazers, the Unmatched Story of Women's Tennis @ \$125 each	\$125	Property of the Crown
16 Sep 2023	Premier Rockliff, Minister Ogilvie, Minister Street	Southern Football League (SFL)	I x ticket to the 2023 SFL Grand Final Luncheon @ \$100 each	\$100	Retained by the recipient

Date Declared/ Received	Recipient	Donor	Description	Est. Total Value	Disposition & Location
18 Sep 2023	Premier Rockliff	Consul-General of China (Melbourne)	I x box Hon Kong MX Golden Assorted Mooncakes @ \$149 each	\$149	Retained by the recipient
18 Sep 2023	Premier Rockliff, Minister Ellis	Tasmanian Turf Club	2 × season passes to the Tasmanian Turf Club 2023/24 @ \$92.50 each	\$185	Retained by the recipient
19 Sept 2023	Minister Ellis	Industry Skills Australia	2 × tickets to the Industry Skills Australia Roundtable Dinner @ \$127 each	\$254	Retained by the recipient
20 Sep 2023	Minister Jaensch	Tasmanian Beekeepers Association	I x gift Honey Products @ \$90 each	\$90	Retained by the recipient
21 Sep 2023	Minister Ellis	John Briggs	I × Paddock to Plate Experience Lunch @ \$50 each	\$50	Retained by the recipient
23 Sep 2023	Minister Street	AFL Tasmania	I x ticket to the 2023 Tasmanian State League Grand Final VIP Function @ \$90 each	\$90	Retained by the recipient
26 Sep 2023	Minister Jaensch	Mirror Merch	4 x Affirmation Stickers (I Am Safe, I Am Loved, I Am Awesome, I Am Kind) @ \$14.95 each	\$60	Retained by the recipient
27 Sep 2023	Premier Rockliff Minister Street	Tasmanian AFL Club	2 × Believe Tasmanian 'Believer from the Beginning Scarf' @ \$51 each	\$51	Retained by the recipient
30 Sep 2023	Minister Barnett	Freycinet Holiday Houses	I x nights accommodation at Freycinet Holiday House @ \$500 each	\$500	Retained by the recipient
30 Sep 2023	Minister Street	AFL Commission	2 x tickets to the 2023 Toyota AFL Grand Final Commission Lunch @ \$495 each	\$990	Retained by the recipient
4 Oct 2023	Minister Ogilvie, Minister Street	Tasmanian Hospitality Association (THA)	I × ticket to the THA Awards for Excellence 2023 @ \$90 each	\$90	Retained by the recipient

Date Declared/ Received	Recipient	Donor	Description	Est. Total Value	Disposition & Location
6 Oct 2023	Minister Street	Hockey Tasmania	3 × tickets to the 2023 JDH Hockey One League Tassie Tigers v Hockey Club Melbourne @ \$80 each	\$240	Retained by the recipient
9 Oct 2023	Minister Barnett	Tasmanian Forest Products Association	I × 9-Slot Huon and King Billy Pine Fishing Fly Box @ \$300 each	\$300	Retained by the recipient
10 Oct 2023	Minister Ogilvie	Intuit Technologies	I x ticket to the Intuit Technologies Women in ICT Dinner @ \$120 each	\$120	Retained by the recipient
19 Oct 2023	Premier Rockliff, Minister Street	Cricket Australia	I × Hobart Hurricanes 2023/24 Women's Replica WBBL Shirt @ \$120 each	\$120	Retained by the recipient
20 Oct 2023	Minister Street	Hockey Tasmania	3 × tickets to the 2023 JDH Hockey One League Tassie Tigers v Perth Thundersticks @ \$80 each	\$240	Retained by the recipient
20 Oct 2023	Minister Ogilvie	Tasmanian Chamber Music Festival	I × ticket to the Tasmanian Chamber Music Festival 2023 Opening Night @ \$250 each	\$250	Retained by the recipient
21 Oct 2023	Premier Rockliff	Devonport City Strikers Football Club	I × ticket to the Devonport City Strikers Football Club Annual Dinner and Awards Evening @ \$65 each	\$65	Retained by the recipient
21 Oct 2023	Minister Ellis	Devonport City Strikers Football Club	2 × tickets to the Devonport City Strikers Football Club Annual Dinner and Awards Evening @ \$65 each	\$130	Retained by the recipient
22 Oct 2023	Minister Street	Chris Mann	I × ticket to the Bruny Bowls and Community Club Talkfast @ \$50 each	\$50	Retained by the recipient
24 Oct 2023	Minister Ellis	Australasian Fire and Emergency Services Authority Council (AFAC)	I x ticket to the AFAC Dinner @ \$95 each	\$95	Retained by the recipient

Date Declared/ Received	Recipient	Donor	Description	Est. Total Value	Disposition & Location
26 Oct 2023	Minister Ogilvie	The Royal Agricultural Society of Tasmania	I × ticket to the 2023 Royal Hobart Show President's Luncheon @ \$80 each	\$80	Retained by the recipient
27 Oct 2023	Minister Street	Tasmania Jack Jumpers	I × Corporate Box to the Tasmanian Jack Jumpers v Melbourne United NBL Game @ \$2750 each	\$2750	Retained by the recipient
28 Oct 2023	Minister Palmer	Endometriosis Australia	I × Gift Bag @ \$86 each	\$86	Retained by the recipient
29 Oct 2023	Premier Rockliff	Netball Australia	9 x tickets to the International Netball Test Series Australian Origin Diamonds v South African SPAR Proteas Game and VIP Function @ \$350 each	\$3150	Retained by the recipient
29 Oct 2023	Minister Ogilvie	Netball Australia	I x ticket to the International Netball Test Series Australian Origin Diamonds v South African SPAR Proteas Game and VIP Function @ \$350 each	\$350	Retained by the recipient
30 Oct 2023	Premier Rockliff	Disney Cruise Line	I × Wooden Plaque ''Call of the Disney Wonder 2023'' @ \$300 each	\$300	To remain property of the Crown